Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

## Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal http://www.mathbalkanica.info

or contact:

Mathematica Balkanica - Editorial Office; Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria Phone: +359-2-979-6311, Fax: +359-2-870-7273, E-mail: balmat@bas.bg



New Series Vol. 15, 2001, Fasc. 1-2

## The Order of Approximation by Certain Linear Positive Operators

C. Atakut 1 and N. İspir 2

Presented by Bl. Sendov

The order of approximation of continuous functions with polynomial growth at infinity by the Szasz operators and its generalizations are established.

AMS Subj. Classification: 41A36

Key Words: Szasz operator, modulus of continuity, linear positive operators, order of approximation

## 1. Introduction

Approximations of continuous functions by Szasz operators were investigated by many authors. We refer to papers [1]-[5]. This paper is also devoted to this problem. Our main result connects with the problem of estimate of difference  $S_n(f;x) - f(x)$  by the modulus of continuity of function f, which is continuous on  $[0,\infty)$  and has a polynomial grows at infinity.

Let m be a fixed natural number and  $C_{x^{2m}}(0,\infty)$  be the space of all continuous functions on the real semi-axis for which the estimate

(1) 
$$|f(x)| \le M_f(1+x^{2m}), \quad x \in [0,\infty)$$

holds, where  $M_f$  is constant, depending on every function f only. For any positive d we denote by  $\omega_d(f,\delta)$  the modulus of continuity of function f on closed interval [0,d], that is

$$\omega_d(f,\delta) = \sup \{|f(t) - f(x)|: t, x \in [0,d], |t-x| \le \delta\}.$$

Obviously, for any d the modulus of continuity  $\omega_d(f, \delta)$  of functions  $f \in C_{x^{2m}}(0, \infty)$  tends to zero as  $\delta \to 0$ , since such a function is uniformly continuous on [0, d].

For the Szasz operator  $S_n$ , defined by

(2) 
$$S_n(f;x) = e^{-nx} \sum_{k=0}^{\infty} \frac{(nx)^k}{k!} f\left(\frac{k}{n}\right) \quad x \ge 0,$$

M. Müller [5] and T. Hermann [3], respectively, obtained the following inequalities

(3) 
$$|S_n(f;x) - f(x)| \le (1 + \sqrt{a}) \omega_{\infty} \left( f, \frac{1}{\sqrt{n}} \right), \qquad 0 \le x \le a,$$

(4) 
$$|S_n(f;x) - f(x)| \le (1 + \sqrt{x}) \omega_\infty \left(f, \frac{1}{\sqrt{n}}\right), \qquad 0 \le x < \infty,$$

where  $\omega_{\infty}(f, \delta_n)$  is the modulus of continuity of function f on infinite interval  $[0, \infty)$ .

It is well-known that the modulus of continuity  $\omega(f,\delta)$  of function f on some interval tends to zero as  $\delta \to 0$  if and only if f is an uniformly continuous function on this interval. Therefore, modulus of continuity  $\omega_{\infty}\left(f,\frac{1}{\sqrt{n}}\right)$  in (3) and (4) must not tends to zero as  $n \to \infty$  if f is not uniformly continuous on all positive semi axis. Moreover, this modulus of continuity may be even unbounded. Therefore (3) and (4), in general, not gave any information about an order of approximation of functions by Szasz operators.

The order of approximation for Szasz operator by the modulus of continuity was firstly established in [4] as

(5) 
$$||S_n(f;x) - f(x)||_{C[0,a]} \le C_f(1+a)^2 \omega_{a+1} \left(f, \sqrt{\frac{a}{n}}\right),$$

where  $f \in C_{x^2}(0, \infty)$  and  $C_f$  is constant depending on f.

The aim of this paper is the generalization of this estimate for functions, belonging to  $C_{x^{2m}}(0,\infty)$ . Moreover, we shall consider also some generalizations of operators (2) in Lipschitz classes  $Lip_M\gamma$ .

Lemma 1. For any natural  $\nu$ ,

(6) 
$$S_n(t^{\nu};x) = x^{\nu} + \frac{b_{1,\nu}}{n} x^{\nu-1} + \frac{b_{2,\nu}}{n^2} x^{\nu-2} + \dots + \frac{b_{\nu-1,\nu}}{n^{\nu-1}} x,$$

where  $b_{k,\nu}$ , k=1,2,... are the constants, such that

(7) 
$$b_{k,\nu} = \begin{cases} 0, & k \ge \nu \\ \neq 0, & k < \nu \end{cases}.$$

Proof. Since for  $\nu = 1$  (6) is true, we can use the method of induction.

Suppose that (6) holds for any natural  $\nu \leq m$ . Choosing the constants  $a_1, a_2, ..., a_m$  from the equality

$$\left(\frac{k}{n}\right)^{m+1} = \frac{k(k-1)...(k-m)}{n^{m+1}} + \sum_{j=1}^{m} \left(\frac{k}{n}\right)^{j} a_{j} \frac{1}{n^{m+1-j}}$$

and using (6), we can found  $S_n(t^{m+1};x)$  by the following formulas:

$$\begin{split} S_n(t^{m+1};x) &= \frac{e^{-nx}}{n^{m+1}} \sum_{k=m+1}^{\infty} \frac{(nx)^k}{(k-m-1)!} + \sum_{j=1}^m a_j \frac{1}{n^{m-j+1}} S_n(t^j;x) \\ &= \frac{n^{m+1}x^{m+1}}{n^{m+1}} e^{-nx} \sum_{k=0}^{\infty} \frac{(nx)^k}{k!} + \sum_{j=1}^m a_j \frac{1}{n^{m-j+1}} S_n(t^j;x) \\ &= x^{m+1} + \sum_{j=1}^m a_j \frac{1}{n^{m-j+1}} \left\{ x^j + \frac{b_{1,j}}{n} x^{j-1} + \frac{b_{2,j}}{n^2} x^{j-2} + \dots + \frac{b_{j-1,j}}{n^{j-1}} x \right\}. \end{split}$$

By expanding the sums in the last equality and by making the rearrangements, we arrive to the form

$$S_n(t^{m+1};x) = x^{m+1} + \frac{a_m}{n}x^m + \frac{a_{m-1} + a_m b_{1,m}}{n^2}x^{m-1} + \dots + \frac{(a_1 + a_2 b_{1,2} + \dots + a_m b_{m-1,m})}{n^m}x.$$

Denoting

$$b_{1,m+1} = a_m$$

$$b_{2,m+1} = a_{m-1} + a_m b_{1,m}$$
...
$$b_{m,m+1} = a_1 + a_2 b_{1,2} + ... + a_m b_{m-1,m},$$

we can write

$$S_n(t^{m+1};x) = x^{m+1} + \frac{b_{1,m+1}}{n} x^m + \frac{b_{2,m+1}}{n^2} x^{m-1} + \dots + \frac{b_{m,m+1}}{n^m} x,$$

which gives the desired result.

Now we can prove the following main theorem.

**Theorem 2.** Let  $f \in C_{x^{2m}}(0,\infty)$  and  $\omega_{a+1}(f,\delta)$  be its modulus of continuity on the finite interval [0,a+1], where a>0. Then for the sequence of the positive linear Szasz operators  $\{S_n\}$  the inequality

(8) 
$$||S_n(f;x) - f(x)||_{C[0,a]} \le C_f (1 + a^m)^2 \omega_{a+1} \left( f, \sqrt[2m]{\frac{a^{2m-1}}{n}} \right)$$

holds for a sufficiently large n.

Proof. Obviously, for  $x \in [0, a]$  and  $t \in [0, \infty)$  we can divide the line in two point sets

$$E_1 = \{(x,t): x \in [0,a], t > a+1\},$$
  
$$E_2 = \{(x,t): x \in [0,a], t \le a+1\}.$$

Let  $(x,t) \in E_1$ . In this case  $t^m - x^m > 1$  and we easy obtain the inequality

$$|f(t) - f(x)| \le 3M_f(1 + a^m)^2(t^m - x^m)^2.$$

If  $(x,t) \in E_2$ , we have the inequality

(10) 
$$|f(t) - f(x)| \le \omega_{a+1}(f, |t - x|) \le \omega_{a+1}(f, \delta_n) \left( 1 + \frac{|t - x|}{\delta_n} \right)$$

with the some positive  $\delta_n$ .

(9) and (10) gives the inequality

$$(11) |f(t) - f(x)| \le 3M_f (1 + a^m)^2 (t^m - x^m)^2 + \omega_{a+1}(f, \delta_n) \left( 1 + \frac{|t - x|}{\delta_n} \right)$$

for any  $t \geq 0$  and  $x \in [0, a]$ . Applying  $S_n$  to both sides of (11) and using the Hölder inequality, we obtain

$$(12) S_n(|f(t) - f(x)|; x) \leq 3M_f(1 + a^m)^2 S_n((t^m - x^m)^2; x) + \omega_{a+1}(f, \delta_n) \left(1 + \frac{1}{\delta_n} \sqrt[2m]{S_n((t-x)^{2m}; x)}\right).$$

On the other hand, by using the monotonity of the positive operators and the inequality  $(t-x)^{2m} \leq (t^m - x^m)^2$ , we get

(13) 
$$S_{n}(|f(t) - f(x)|; x) \leq 3M_{f}(1 + a^{m})^{2}S_{n}((t^{m} - x^{m})^{2}; x) + \omega_{a+1}(f, \delta_{n})\left(1 + \frac{1}{\delta_{n}} \sqrt[2m]{S_{n}((t^{m} - x^{m})^{2}; x)}\right).$$

Now, we calculate  $S_n((t^m-x^m)^2;x)$  in (13).

From (6) and (7), we obtain for  $0 \le x \le a$ :

$$S_{n}\left((t^{m}-x^{m})^{2};x\right) = S_{n}(t^{2m};x) - 2x^{m}S_{n}(t^{m};x) + x^{2m}S_{n}(1;x)$$

$$= \left(x^{2m} + \frac{b_{1,2m}}{n}x^{2m-1} + \frac{b_{2,2m}}{n^{2}}x^{2m-2} + \dots + \frac{b_{m-1,2m}}{n^{m-1}}x^{m+1} + \frac{b_{m,2m}}{n^{m}}x^{m} + \dots + \frac{b_{2m-1,2m}}{n^{2m-1}}x\right)$$

$$-2x^{m}\left(x^{m} + \frac{b_{1,m}}{n}x^{m-1} + \frac{b_{2,m}}{n^{2}}x^{m-2} + \dots + \frac{b_{m-1,m}}{n^{m-1}}x\right) + x^{2m}$$

$$\leq \frac{1}{n}\sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| x^{2m-k} \leq \frac{a^{2m-1}}{n}\sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}|.$$

Hence, we obtain

$$(15) \left( \max_{0 \le x \le a} S_n \left( (t^m - x^m)^2; x \right) \right)^{\frac{1}{2m}} \le \sqrt[2m]{\frac{a^{2m-1}}{n}} \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right)^{\frac{1}{2m}}.$$

Using (15) in (13), we get

$$S_n(|f(t) - f(x)|; x) \le 3M_f(1 + a^m)^2 \frac{a^{2m-1}}{n} \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right) + \omega_{a+1}(f, \delta_n) \left[ 1 + \frac{1}{\delta_n} \sqrt[2m]{\frac{a^{2m-1}}{n}} \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right) \right]^{\frac{1}{2m}} \right].$$

Taking  $\delta_n = \sqrt[2m]{\frac{a^{2m-1}}{n}}$  in this inequality, we can write

$$\begin{split} S_n\left(\left|f(t)-f(x)\right|;x\right) & \leq 3M_f(1+a^m)^2 \frac{a^{2m-1}}{n} \left(\sum_{k=1}^{2m-1} \left|b_{k,2m}-2b_{k,m}\right|\right) \\ & + \omega_{a+1} \left(f, \sqrt[2m]{\frac{a^{2m-1}}{n}}\right) \left[1 + \left(\sum_{k=1}^{2m-1} \left|b_{k,2m}-2b_{k,m}\right|\right)^{\frac{1}{2m}}\right]. \end{split}$$

Since  $S_n(1;x) = 1$  and for a sufficiently large  $n, \frac{a^{2m-1}}{n} \leq \sqrt[2m]{\frac{a^{2m-1}}{n}}$ , we obtain

$$||S_n(f;x) - f(x)||_{C[0,a]} \le 3M_f (1+a^m)^{2} \sqrt[2m]{\frac{a^{2m-1}}{n}} \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right) + \omega_{a+1} \left( f, \sqrt[2m]{\frac{a^{2m-1}}{n}} \right) \left[ 1 + \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right)^{\frac{1}{2m}} \right].$$

By the properties of the modulus of continuity, there exists a constant  $K_f$ , depending on function f, such that  $\omega_{a+1}(f,\delta_n) \geq K_f \delta_n$ . Therefore we can write

$$||S_n(f;x) - f(x)||_{C[0,a]} \leq \left\{ 3 \frac{M_f}{K_f} \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right) + \left[ 1 + \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right)^{\frac{1}{2m}} \right] \right\} \times (1 + a^m)^2 \omega_{a+1} \left( f, \sqrt[2m]{\frac{a^{2m-1}}{n}} \right).$$

Denoting

$$C_f = 3 \frac{M_f}{K_f} \left( \sum_{k=1}^{2m-1} |b_{k,2m}| - 2b_{k,m}| \right) + \left[ 1 + \left( \sum_{k=1}^{2m-1} |b_{k,2m} - 2b_{k,m}| \right)^{\frac{1}{2m}} \right],$$

we can find

$$||S_n(f;x) - f(x)||_{C[0,a]} \le C_f(1+a^m)^2 \omega_{a+1} \left(f, \sqrt[2m]{\frac{a^{2m-1}}{n}}\right)$$

which gives the proof.

Corollary 3. If  $f \in Lip_M \alpha$  on [0, a + 1], then

$$||S_n(f;x) - f(x)||_{C[0,a]} \le C_f(1+a^m)^2 M\left(\frac{a^{2m-1}}{n}\right)^{\frac{\alpha}{2m}}$$

holds, for a large n.

Consider now some generalization of operators  $S_n$ .

Let  $\beta_n$  be a sequence of nonnegative numbers such that

$$\lim_{n \to \infty} \beta_n = \infty \quad \text{and} \quad \lim_{n \to \infty} \frac{\beta_n}{n} = 1.$$

Consider the sequence of the linear positive operators  $S_n^*$  defined by

(16) 
$$S_n^*(f;x) = e^{-nx} \sum_{k=0}^{\infty} \frac{(nx)^k}{k!} f\left(\frac{k+\alpha}{\beta_n}\right) , \quad (\alpha > 0).$$

This type generalization with  $\beta_n = n + \beta$  was considered first by D.D. Stancu [6]. Now, using Corollary 3, we give the following more general theorem on approximation in Lipschitz classes.

**Theorem 4.** For  $0 < \gamma \le 1$ , let  $f \in Lip_M\gamma$ . Then for the sequence of the positive linear operators  $\{S_n^*\}$  the inequality

(17) 
$$||S_n^*(f;x) - f(x)||_{C[0,a]} \le C. \max\left\{ \frac{1}{n^{\gamma/2m}}, \left(1 - \frac{n}{\beta_n}\right)^{\gamma} \right\}$$

holds for a large n, where C is constant, defined as

$$C = \left(M\alpha^{\gamma} + MC_f(1+a^m)^2 a^{(2m-1)\gamma/2m} + Ma^{\gamma}\right).$$

Proof. Clearly,

$$|S_n^*(f;x) - f(x)| \leq \sum_{k=0}^{\infty} \left| f\left(\frac{k+\alpha}{\beta_n}\right) - f\left(\frac{k}{\beta_n}\right) \right| \frac{(nx)^k}{k!} e^{-nx} + |S_n(f;x) - f(x)| + \sum_{k=0}^{\infty} \left| f\left(\frac{k}{\beta_n}\right) - f\left(\frac{k}{n}\right) \right| \frac{(nx)^k}{k!} e^{-nx}.$$

Using Corollary 3 and the condition  $f \in Lip_M \gamma$ , we can write

$$|S_{n}^{*}(f;x) - f(x)| \leq M \sum_{k=0}^{\infty} \left| \frac{k+\alpha}{\beta_{n}} - \frac{k}{\beta_{n}} \right|^{\gamma} \frac{(nx)^{k}}{k!} e^{-nx}$$

$$+ C_{f} (1+a^{m})^{2} M \left(\frac{a^{2m-1}}{n}\right)^{\gamma/2m}$$

$$+ M \sum_{k=0}^{\infty} \left| \frac{k}{\beta_{n}} - \frac{k}{n} \right|^{\gamma} \frac{(nx)^{k}}{k!} e^{-nx}$$

$$\leq M \left(\frac{\alpha}{\beta_{n}}\right)^{\gamma} + C_{f} (1+a^{m})^{2} M \left(\frac{a^{2m-1}}{n}\right)^{\gamma/2m}$$

$$+ M \left(1 - \frac{n}{\beta_{n}}\right)^{\gamma} \sum_{k=0}^{\infty} \left(\frac{k}{n}\right)^{\gamma} \frac{(nx)^{k}}{k!} e^{-nx}.$$

Using the Hölder inequality with  $p = \frac{1}{\gamma}$  to sum on the right-hand side of (18), we obtain

$$\leq M \left(\frac{n}{\beta_n}\right)^{\gamma} \frac{\alpha^{\gamma}}{n^{\gamma}} + C_f (1 + a^m)^2 M \left(\frac{a^{2m-1}}{n}\right)^{\gamma/2m} + M \left(1 - \frac{n}{\beta_n}\right)^{\gamma} \left(\sum_{k=0}^{\infty} \left(\frac{k}{n}\right) \frac{(nx)^k}{k!} e^{-nx}\right)^{1/\gamma}$$

and therefore, for  $x \in [0, a]$ ,

$$|S_n^*(f;x) - f(x)| \leq M \left(\frac{n}{\beta_n}\right)^{\gamma} \frac{\alpha^{\gamma}}{n^{\gamma}} + C_f (1 + a^m)^2 M \frac{a^{(2m-1)\gamma/2m}}{n^{\gamma/2m}} + M \left(1 - \frac{n}{\beta_n}\right)^{\gamma} a^{\gamma}.$$

Now, since  $S_n^*(1;x) = 1$  and  $\frac{1}{n^{\gamma}} < \frac{1}{n^{\gamma/2m}}$ , we can find

$$\|S_n^*(f;x) - f(x)\|_{C[0,a]} \le C. \max\left\{ \frac{1}{n^{\gamma/2m}}, \left(1 - \frac{n}{\beta_n}\right)^{\gamma} \right\},\,$$

which completes the proof.

Let  $\beta_n = n + \beta$ ,  $\beta > 0$ . Then we get a generalization of the type

(19) 
$$S_n^{(\alpha,\beta)}(f;x) = e^{-nx} \sum_{k=0}^{\infty} \frac{(nx)^k}{k!} f\left(\frac{k+\alpha}{n+\beta}\right) , \quad (\alpha,\beta > 0).$$

Corollary 5. For  $0 < \gamma \le 1$ , let  $f \in Lip_M\gamma$ . Then for the sequence of the positive linear Szasz-Stancu operators  $\left\{S_n^{(\alpha,\beta)}\right\}$  the inequality

$$\left\| S_n^{(\alpha,\beta)}(f;x) - f(x) \right\|_{C[0,a]} \le C \frac{1}{n^{\gamma/2m}}$$

holds, where

$$C = M(\alpha^{\gamma} + \beta^{\gamma} a^{\gamma} + C_f(1 + a^m)^2 a^{(2m-1)\gamma/2m}).$$

Acknowledgment. The authors would like to thank Professor A.D. Gadjiev for his valuable suggestions.

## References

- [1] J. Grof, A Szasz otto-fele operator approximation tulajdonsagairol, MTA III. Oszt. Közl. 20 (1971), 35-41 (in Hungarian).
- [2] T. Hermann, Approximation of unbounded functions on unbounded interval, *Acta Mathematica (Acad. Sci. Hungarica)* **29**, No 3-4) (1977), 393-398.
- [3] T. Hermann, On the Szasz-Mirakian operator, Acta Mathematica (Acad. Sci. Hungarica) 32, No 1-2 (1978), 163-173.
- [4] E. İbikli, E. A. Gadjieva, The order of some unbounded functions by the sequences of positive linear operators, *Turkish J. of Mathematics* 19 (1995), 331-337.

Received: 19.07.1999

- [5] M. Muller, Die Folge der Gamma Operatoren, Dissertation, Stuttgart (1967).
- [6] D. D. Stancu, Approximation of functions by a new class of linear polynomial operators, *Roum. Math. Pures et Appl.* XIII, No 8 (1968), 1173-1194.

Ankara University, Faculty of Science Department of Mathematics 06100, Tandogan, Ankara - TURKEY

e-mails:  $^1$  atakut@science.ankara.edu.tr ,  $^2$  ispir@science.ankara.edu.tr